O WAl AltsHA L.

— +3+5




=4+ 9 2 AAE

1
4- +
6

o =
=K<}

ot

25 1
— X4 X =
6 9

®




A7} 765k Q) WARE 18 F2] Ao EZo] Liro} Hoaw
Gtk g B0 @ kg o WIS Hopof =] TahA 2.

76.5 + 18 = 4.25(kg)




4. 11448 & oW S e Fol 12 2 o] Hojgay
ol 4 Anfelx] THAIL.

> E:

> e 954

ofwsg [ et s
11448 +[ |=12
[ ]=114.48 =12

[ ]=9.54




oF 7371014 81 BHA oA 17 9] SHEHE HE U

EZ WEER A 2.

g0l
o

|

o

12.5%

0.125 - 12.5%

1
8




6. _l:l_uﬁ/g'oﬂ/d 8500 '(‘)':—]_Oﬂ /\]-% /g-_-‘g;oﬂ 20% 94 O]O—]l% _E_Oq @7% 161_6']-
41tk o] AEe] A7he Sdukel 7

> E: S|

> = 102009

(°]2])= 8500 % 0.2 = 1700 () o] 2&
(Z471)= 8500 + 1700 = 10200 ()




